23l D0sE
00C : 14.6 mg/L
209G : 9.07 mg/L
300C : 7.54 mg/L
3 350C : 7.00 mg/L
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CHONS + 0, =—"> CO, + H,0 + .......

« Abspy  KMnO, : dEots ZIFE 97 60% £33 3 CODy,
K,Cr,0, : “d&dts 80 - 100% =3 = COD,

HgSO, :CI-O|2 H|A
H,SO, Ag,SO, : 501 7|&
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3. O|2 COD A4t

+ Glucose(25F3 )
CH,0, + 60, = 6CO, + 6 H,0
(180 gr) (192 gr)
Ex) Glucose 1 gr 1L H,00| EdliA|Z B2 =8| 0|2 CODE& ?
Sol) 180 ¢gr: 192gr = 1gr : x
x = 192/180 = 1.067 gr
t2kM 1 L H,00| 85222 0|2 COD = 1,067 mg/L

a5 °7|EM(TOC)

Ex) Glucose 1 gr& 1L H,O00| 8diA|ZE 8% +=EAH2| 0|2 TOC= ?
Sol) 1gr* (72/180) = 0.4 gr/L = 400 mg/L



4. BOD2} coD2| 24|

coD
2101 1) PR ~T NBDCOD
(d=SH 2ol E7ls f712

BOD.
: non-biodegradable COD)

COD = BDCOD + NBDCOD
BDCOD = BOD, = K*BOD,
NBDCOD = COD - BOD,
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7) TOC= 7|=2| BOD2l CODE HEetst CH|SH7| {5t ME8T AL, COD/TOCS| H|=
At 0] CHSE EbAO] ZH|Q1(32/12) 2.660] E25HA| k|L}, o2 §7|3tet=2| otet™ AHd
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